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Expected

4. A (840), C (936), B (1,518)

5. C ltis incorrect because 0 x 3 = 0, not 3. The answer should be 1,620.

6. No, the second multiplication is incorrect because the 15 (5 x 3) has been recorded
wrongly in the answer. The 5 should be in the ones column in the answer and the 1
should be carried over to the tens column, to be added to the 24 (8 x 3). The answer
should be 1,455.

Greater Depth
7.C (2,127), B (1,972), A (1,920) D can be any multiplication calculation that has a
product which is less than 1,920.

8. A- alz\4 B-

9. Yes, Zara is correct as all the missing numbers are 9.
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